
D 8  

.. 4  

9  ﾖ  0  D  8  

- 4 1 3  2 0  0.5 - ti 2  8 2  ti 5  - 8  2  ﾖ  8. 5K C/ 8  ;  

12,40 0  - 1  8  ;  2  2, 0  7  0  - 2  2, 0  7  3. 

9  ﾖ  ﾖ  9  (i 

0  
l  

0  

0  

2  0  

1  1  

1  ﾖ
O  

S , 



(1) 2  

0  

1  ゚- 0  3 / 8 , 4  6- 2  3 1  E  )  

2  9  1  

(4) 1  60  1  70  8 , 1  4  60  1  5  O. 

1  
(5) 1  

0  

1  1 6 1 7/ 8  1 4  ゚  2 9 1  E  
3  1 6

0
1 51  1 4'6

0
3 3 1  7 1  1 6 4  2 3 5  

4  M  1 4 ﾟ 3 7 1  9 7  1 6 7  2(¥4 
5  1  ゚O 1  8 1  1  4  ゚  3 81  3 0  1 7 9  2 0 9  

1  (¥0 1 91  1 4 60  6  
7  1 1  2 3 2  2 4 3  



(7) 2  0  

(8) 2  

M.  
9  ﾖ  

0  0  

0  0  

p r o t e i n  

9  4  0  9  ti 2  0  0  

3. 9  ﾖ  
0  

9  

- 1 0 1-


